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Nom� .........................................     Data� ................................ 
 

 

Càlcul  mentalCàlcul  mentalCàlcul  mentalCàlcul  mental    
 
Resol les operacions. 
 

3 + 3 =3 + 3 =3 + 3 =3 + 3 =     
 

4 4 4 4 ---- 2 = 2 = 2 = 2 =     

           
4 + 5 =4 + 5 =4 + 5 =4 + 5 =     

 
4 4 4 4 ---- 4 = 4 = 4 = 4 =     

           
0 + 3 = 0 + 3 = 0 + 3 = 0 + 3 =  

 
3 3 3 3 ---- 1 = 1 = 1 = 1 =     

           
4 + 1 =4 + 1 =4 + 1 =4 + 1 =     

 
2 2 2 2 ---- 0 = 0 = 0 = 0 =     

           
5 + 2 =5 + 2 =5 + 2 =5 + 2 =     

 
5 5 5 5 ---- 4  4  4  4 ====     

 
 

Temps :  m. +  s. 
 

 

         
Errors :      

 
 

         

TOTAL     segons    
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